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rate of zero and no subsidies. In contrast, citizens with low incomes are quite happy with this 
tax and transfer system; in fact, low-income citizens can be expected to support even higher 
tax rates because they would get the full benefit (B) of a more aggressive tax and transfer 
system but pay only a fraction of the cost (yit). Put differently, the tax rate in our economy 
determines the slope of the line in Figure 16.4. If the tax rate goes up, then the slope of the 
“Tax bill” line increases (gets steeper). This results in an increase in the size of the net ben-
efits going to citizens who have an income below the national average but an increase in the 
size of the net contributions paid by citizens who have an income above the national average.

The analysis so far helps to show that fiscal policy preferences are likely to be related to 
one’s income. High-income voters are likely to be less enthusiastic about increased taxation 
and spending than low-income voters. Some readers may be concerned that this result is 
derived from a model that differs in substantial ways from most observed tax and transfer 
systems in the real world. For example, real-world taxation systems do not apply a single tax 
rate to all earners. Similarly, governments do not spend equally on all members of society—
some individuals receive more government services, subsidies, and so on, than others. These 
observations, however, do not challenge the usefulness of the analysis presented here unless 
it can be shown that changing our assumptions to reflect these realities changes our conclu-
sions in a fundamental fashion. Although it is true that governments tend to choose different 
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Ta
xe

s 
an

d
 S

u
b

si
d

ie
s

Gross Income of Citizen i (yi)

5 100 15 20 25 30 35 40 45

1

2

3

4

5

6

7

8

9

0

Tax bill
(T = yit)

Subsidy
(s)

Net contributions

Net benefits

Note: Subsidy (s) = the total subsidy awarded to citizen i; tax bill (T = yit) = the total tax paid by citizen i.




